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37 handy reminder as
S to how to calculate
volumetric weight.
Height
| e;l%.S(rrnn) Remember
GE’ , ING IT RIGHT : Maximum weight of any item is 25kg or 0.125(m)3
ey \ 1 ticket ber 25k Maximum length of any item is 1.5m
YOUR 2 STEP GUIDE TO TICKETING S5t / R .
Length(m)
Contact us

& e Two Sector

Over 150km, within an Island For any questions regarding:

Which is greater, actual .
or volumetric weight? s > What tickets to use

Measure the height(m), width(m)

This will determine your correct ticketing A and length(m) 2 Delivery sector boundaries
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What's the volumetric @ 0800 COURIER (0800 268 743)
weight? (see panel onright) > = = Island to Island For example, if your correct !
Between North & South Islands ticketing weight is 20kg, and ! : .
Volumetric weight: your destination is a green Just ask a CourierPost courier
A ticket, you'll need 4 green
7 Now which is greater, actual 05 x 04 x 05 = 0.1(m)3 x 200 = 20kg ( tickets, 3 of which are your
= or volumetric weight? i excess tickets.

Actual weight: 10kg il
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The greater of the actual or volumetric weights is
used to determine the number of parcel tickets
required, 20kg in this example. 1 ticket for first 5kg

That's the correct
) weight for ticketing
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